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General Instructions

This paper contains THREE sections:
Section A - Reading- 16 Marks

Section B - Writing & Gramimar- 20 Marks
Section C- Literature- 24 Marks

All sections are compulsory,

o

Section A-Reading (16 Marks)

T A. Read the rpassage given below and answer for the uestions that follow: (1x8=8M)

1 In an astoni shing and furry adventure, a "sloth" of at least 8 bears decided to throw a bear-sized party in a
family's home, eating all the foed and leaving behind a scene of chaos. The family, returning home, was
greeted by a sight that could only be described as a bear bonanza.

2. CCTV footage captured the moment when the bears, with a mix of excitement and curiosity, entered the
home and went straight to the kitchen. From porridge to honey and even some sandwiches, the bears indulged
in a feast fit for a bear king. The footage showed the bears inspecting the fridge, cupboards, and even trying
their paws at using kitchen utensils.

3.?': ne family, though shocked at the sight of their trashed home, couldn't help but marvel at the playful antics
of the unexpected guests. Fortunately, no one was harmed during the bear bonanza, and the bears eventually

left the house, disappearing into the nearby wood.

1. How many bears entered the family's home?
a) J bear ¢) 4 bears
b’) 8 bears d) bear sized party

2. What did the bears do in the family's home?
a) They ate all the food ¢) It drank the water first
b) They created chaos d) both (a) and (b)



3, What captured the moment when the beare entered the home

a) CCTV footage
b) Neighboure

4. Complete the following: -

a) The family marvelled ot

b) The bears ate

S, Was anvone injured during the bear bonanza?
6. Suggest a suitable title for the story.,

7. Find antonyms (opposite meaning) of the given words from the passage: (1/2x2=1)

a) far (Para 3) b) expected (Para 3)

B. Read the passage given below and answer for the questions that follow: (1x8=8M)

1. The milkman’s cow was in a bad mood. It sat in the middle of the road and refused to move. The milkman
begged the cow to get up. “The children are waiting for their milk to help them grow strong. Please get up,”
he pleaded. He pulled and tugged and prayed. But the cow wasn’t going anywhere that day.

2. Along came a policeman, his buttons and buckles gleaming bright. “Humph,” he said, twirling his long
moustache, “I’ll show you how to do it right.”The policeman and the milkman pulled and tugged and prayed.

But the cow wasn’t going anywhere that day.
3. Along came a grocer with bags of potatoes and peas. He said, “I’ll move this cow with the greatest of ease.”

The grocer, the policeman and the milkman pulled and tugged and prayed. But the cow wasn’t going anywhere

that day.
4. Along came a wrestler, his muscles gleaming in the sun. He said, “I have the strength of ten horses, so this

should be fun.” The wrestler, the grocer, the policeman and the milkman pulled and tugged and prayed.

1. Who was in a bad mood?
a) Milkman ¢) Policeman
b) Milkman’s cow d) Children

2. Where did the cow sit down?
a) left side of the road ¢) zebra crossing

b) right side of the road8 bears d) middle of the road
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3. Who are waiting for the milk?
a) Children ¢) Policeman
b) \\fms”cl I'I" (irocer
4. Who came with a bag of potatoes and peos?
a) Milkman

b) Cow

¢) Grocer

d) Policeman

5. Who had a long moustache?

a) Milkman c) Grocer
b) Wrestler d) Policeman
6. ¢ Complete the following: -

a, The wrestler had the strength of

b) The buttons and buckles of the policeman were

7. Find antonyms (opposite meaning) of the given words from the passage: (1/2x2=1)

b) agreed (Para 1)

Section B- Writing and Grammar (20 Marks)

I Write a story with the help of the picture and clues given below.

a) pushed (Para 1)

4 Marks

Friends-Tree house- nature- love trees- happy- relax- activities- spring time- animals- plant trees.
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11 DO AS DIRECTED:

1. Fill in the blanks with suitable pronouns. (1x4=4Marks)
- e S o

a) My neighbours are college students. are very noity

b) linvited all of friends, but none of turned up

¢) 1 fell down and hurt

2. Choose the correct word and fill in the blanks: (1x4=4Marks)

a) There is a small park (in/on/at) the top of the hill. ‘
b) We slept (on/ under/ between) the open sky.

¢) The dog ran (through/ towards/ Across) me.

d) She sat (between/ in/ beside) her during dinner.

3. Fill in the blanks with the correct form of verb: (1x4=4Marks)
———— 1t 2Ranks with the correct form of verb:
Last week (a) (is/will be/was) Road safety week at school. All the students (b)

( has/had/have) to attend a talk given by a police officer. The rules of the road (c) (is/ are/were)

very simple. If we (d) (learnt/ learns/learn) them and obey them, we could avoid accidents.

4. Rewrite the following sentences using conjunctions given below: (1x4=4Marks)

(or, because, and, but)
a) I went to his house. He was not there.
b) I was sad. I lost my purse.
¢) Run fast. You will miss the bus.
d) Harish is tall. Harish is handsome.

Section C- Literature (24 Marks)

IV 1. Read the following extract and answer the questions that follow: (1x4=4Marks)
“There was only one player who caused him the deepest anxiety”
a) From which lesson has the above extract been taken?
i) Tine and the Faraway mountains iii) Be Prepared

ii) Before the Match iv) The Trumpet of Swans



b) Who is the author of the lesson?
1) R K Narayan i) Kathtyn Worth
i) Shikha Tripathi ivy E B White

¢) Who does ‘him” refer 1o in the above sentence?
1) Swaminathan iti) Captain Rajam

1i1) Head Master iv) Doctor Kesavan

d’v Which player caused him the deepest anxiety?
1) Mani iii) Rajam
_ i) Swaminathan iv) HeadMaster
2. Read the following extract and answer the questions that follow: - (1x4=4Marks)
“Yet he will find a chink or two,
To slip his golden fingers through.”

a) The extract is taken from the poem

i)Seeds iii) Summer Sun
ii)On the Bridge iv) Smells
b) The author of the poem is
4 i) R L Stevenson iii) Walter de la Mare
ii) Shikha T'ripathi iv) Kate Greenaway

¢) Who will find a chink or two?
i) spider iii) sky
ii) rain. iv) The sun
d) What does the term ‘golden fingers’ refer to?
i) fingers ii) sun’s rays

iii) curtains iv) garden



V Answer the following questions. (4x2=8 Marks)

1. Why was Mr., Oliver angry with the scouts afler he returned from teacking?

J

. In the poem, “On the Bridge,” name the things the poet wishes to see,
3. Who saved the swan and how?

4. In the poem, “Seeds™ what does the plant do afler it has pushed its way to the surface of the ground?

VI Answer the following questions. (2x4=8 Marks)

a) What difficulties were faced by Tine and Cherring during their climb up the Everest?

b) Why did the doctor refuse to give Swami a medical certificate? What did he offer to do instead?
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Sindhi High School, Bengaluru,
Half Yearly Examination. (2024 -25)
Subject - Mathematics,

Class: 4
| Max Marks : 60
Date : 30. 9. 2024 Reading time : 8: 0n to 8: 15am

——— —— -
O Bt L D ——

No. of printed sides : 4 Writing time : 8:15 to 8:45 am

GENERAL INSTRUCTIONS.
1. Write your name, roll number, class and section, date and subject clearly in your answer
seript. '

2. This question paper has five sections A to E.
3. SECTION - A has 14 MCQs carrying 1 mark each.
4. SECTION - B has 4 questions carrying 2 marks each.
5. SECTION -C has § questions carrying 3 marks each.
6. SECTION — D has 3 questions carrying 5 marks each.
F 4l SECTION — E has 2 case study questions carrying 4 marks each.
S1 SECTION - A Marks
RLY ‘
Choose the correct answer.
1 The number of edges in a cuboid is ——=----- 1
a6, b.- 12 c. 8 d. 4
2 The sum of VI and VIII in Roman numerals is -----—- 1
a. VI b. VII G XV d. XIvV
3 Thc even number next to 1818 is -----m- 1
a. 1816 - b, 1819 c. 1800 d. 1820
4 The-product of 200 and 10 is ------- 1
a. 2000 b. 20,000 c. 2,00,000 d. 200
5 19,370 is less than 20,370 by --------- 1
a. 100 b. 1000 ~ c¢. 10,000 d. 10
6 | (81,781, 81,771 , 81,761 ) The next number in this pattern is - 1
| a 81,751 b. 81,791 c. 81,771 d. 81,741
' ich lie i d21 arg ------- 1
7 | Multiples of 4 which lie in between 15 an
a. 16, 21 'b. 15,20 c. 16,18 d. 16,20
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Two dozene of hanannt eontaing famafae

a 12 b, 10 c. 24 d 20

17 40 chocolates of the same variety logethet cotts Re. 40, the cost of ane

chocolnte 18

a Rs.10 . Re.l ¢ Rs.2 dd [RaAn

10 | The ghort form of RO.000 4+ 8O0 + 8 §§ woweenns

a. 8O.ROK h. 80,808 c. 80,800 d. 88,808

a. line b. line segment  c. angle d. ray

j A straight line drawn in between two points is called as a

Tn the division sum 423 =3 = 141, the dividend is --——--
‘3.423 b. 0 c. 141 d.3

|
i
|

| 1

'S ]

If the diameter of a circle is 22cms, its radius is ------
a.l7cms b. Ilcms ¢. 44cm d. 12cms

14

A few common factors of 10 and 20 are -------
a.2and 3 b.2and 5 c.5and 6 d.4and 6

SECTION -B

e ——

a. Find the greatest and the smallest five digit numbers that can be formed

using the digits 7,8,1,6.
b. Find the successor and the predecessor of 1,00,000.

Draw a line segment of length 8cms and name it.

17 -

Divide 5698 by 20 using long division method.

18

Ms. Jayashree had Rs. 8,75,000 in her bank account. She boughta
Television for Rs.1,68,500. How much money she had in her account after

the purchase of Television.

SECTION - C

"

19

a. Multiply using expanded form. 724 X 5 L&
b. Find the answer using doubling method. If15X4=60,15X8=?

c. Find the product by combining the factors. 5X31X2

20

a. Is 98 a multiple of 37
b. Is 6 a factor of 787

c. List down the factors of 21.

21

Complete these statements using the properties.
a. 115+ 215+ 315 =315 + -=-e-emm- +115

IRy ) [ S — = 19,791

C. 21,438- ------------- =)




22 | Find the quotient and remainder withowt actual divigion. 3]
E:“n_ | Livision sum , quotrent ! remainder L
1. 71,612 10 [ ’ | |
T2 | 47,900 + 100 J‘ { | |
3 (376,023 + 1000 ; | |
- o S e \ ' .
23 | Simplify. - |
38,423 + 41,869 - 28,239
|
SECTION D T
i
a. In a tailor shop, 370 buttons are packed in one carton box. How mary 1 5 |
4 | buttons can be packed in 25 such carton boxes? [
b. In a book shop, 95 almirahs are there. Each almirah can hold 100 books. |
How many books can be arranged in all the almirahs together?
25. | Observe the given figure and answer. 2 —
a. Centre = -———— 5
% e d hoRading =
...... 2 Diameter = -———- ..
|
Complete these statements:
d. Boundary of the circle is called
e. Ifthe radius of a circle is 8cm, its diameter is -----
26 | a. 9765 litres of water was supplied to 15 homes in a day equally. How
many litres of water did each home get? 5
b. Ms. Meera divided Rs. 3660 equally between 3 workers, How much did
_

each worker get?
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a. How many food packets has he got?
b. How many packets does each family get?

¢. How many pac;:kets would have been left over?

28

Mr. Rohith Shaxﬁia decided to sell his house when he became old.

He had 3children (two sons and one daughter). He sold his hou:se for

Rs. 9,82,000. He gave 3 lakhs to his elder son and 3 lakhs to his younger
son. The remaining amount he gave to his daughter.

a. How much money did he give for both the sons together?

b. How much money did he give to his daughter?

¢. Who got more money from Mr.Rohit Sharma?




S ey SINDHI HIGH §CHOOL, BANGALORFE
@ HALF YEARLYEXAMINATION- (2024-25)

o bt e on Subject - SCIENCF,

Class: 1V Max Marks:60

Date:- 03,10.2024 Timinga: 8:00 ta10:45 am
No. of sides: 3 Reading time: 8:00-8:1%am

Writing time: 8:15- 10:45 am

General Instructions:

This Question paper has 4 Sections A-D
All questions are compulsory.

Answer all the questions and write neatly

M
SECTION - A

I.MCQ (% x8=4)
1) The function of a leaf is to

(a) absorb water from soil

(b) make food for the plant

(c) protect the plant from insects

(d) anchor the plant to the ground

ii) Extra food in the plants is stored in the form of
a) Chlorophyll b) Veins
c) Starch d) Glucose

iii) Roots found in the plants of grassland are called as
a) . Deep root b) Breathing root  c)Floating root d) Primary root

iv) Plants in coastal areas are called

a) Deciduous trees b) Evergreen trees
¢) Aquatic plants d) Insectivorous plants

V) The nutrient which helps in the clotting of blood from any injury
a) Fats b) Protein
¢) Vitamin K d) Carbohydrates

vi) The substance which is present in our diet that cannot be digested but helps to remove
waste from our body is

a) Iron b) Iodine

¢) Calcium d) Roughage

vii) When the child is above two years of age, he/she has

1



b)Y 32 teeth

a) 16 teeth
d) 25 1eeth

¢) 20 tecth

viii) Magnet attracte
n) wooden objects
¢) metallic objects euch as iton

h) plattic objects

iy placeovares

I Define the following:
1) Gravitational force

1) Germ

)Digestion

iv)Parasite,

111 Match the FFollowing

1. Stomata has wide leaves to floal on water
2. Water lily used in bread to make it fluffy
3. Large Intestine help in gas exchange

4, Fungi absorbs water from the waste
IV. Analogy

I. Magnetic: Magnetic force::Crane:
2. Lotus: Fixed plant :: Duckweed:

3. Wheat: Carbohydrate :: Butter: _
4. Pneumonia: :: Malaria: Protozoa

V. Give two-examples for each
1. Plants which store food in roots.
2. Food that is preserved by Canning.
3. Diseases caused by virus.
VI. Give reason
1) We need to drink 8-10 glasses of water in a day.
2) We use plants like Hydrilla and Tapegrass in aquarium.

SECTION-B

1.- A green leaf is known as the kitchen of the plant. Justify.

(1 24=4d)

(1x4=4)

(1 x 4=4)

(1x3=3)

(1x2=2)

2 x 7=14)

2. The balance between the plants and animals needs to be maintained in nature. J ustify.

(Any two points)

3. Riya went out of station for 4-5 days. It was summer so she kept the potted plants
inside the room which was a bit dark. On her return she found that the plant was

wilted. What do you think would be the reason?
What is a balanced diet?

NS s

What are the effects of force?

When two surfaces slide over each other, which force does it act upon? Explain.

We must wash the vegetables before cutting. Why?



SECTION-C (3¢ 5=1%)

How do you take care of teeth (Mention ix painte)
Name the different parts of the digective tyetem
Draw a neat labelled dingram to show phototyntheie in plant

a) Identify the plant in the image given above and write its habitat. (1}
b) Write the characteristics of this plant which helps it to survive in that particular habitat. (Z)
5 a)A force acts on a ball thrown in the air for it to come back to the earth. Identify the force.

b) Rohan is lifting a box. Which type of force is being applied? (1)
¢) Vrishti was on the balcony when, she observed lightning and heard thunder.Curious,she
wondered about the force driving this process.What was it? (1)

SECTION-D  (5x2=10)

1. a) How do our teeth decay? Explain. (3)
b) Label any four parts of the structure of the tooth for the image given below.

- ' @)
2. a)Write a short note on insectivorous plants. Give two examples . 3)
b) How is bamboo plant useful to humans? 2)



€N SINDHI HIGH SCHOOL
HALF YEARLY EXAMINATION (2024-25)
wm—e=  SUBJECT - SOCIAL SCIENCE

Date : 20-909-24 Marks: 60
Class: 1V Reading Time: 8:00 to 8:15 am
Number of printed sides: 4 Writing Time: 8:15 to 10:45 am

Genera | Instructions:

* Write your Name, Roll number, Section in the answer script.
* Read all the Questions carefully.
¢ Answer all the Questions and write neatly.

Section - A

!
‘ Choose the correct answer (1X5=5)

The northern Plains of India are

gl
[ =

a) very fertile  b) Not fertile c¢) Desert d) Very small

The oldest landmass of India is the

2 |a) Northern Plains b) Himalayas :
¢) Southern Plateau d) Thar Desert
Mount Abu lies in the .

3 |a) Himalayanregion  b) Desert region 1
c¢) Coastal region d) Deccan region

4 is not a natural resource. ° 1

~ a) Soil b) Water c¢) Road d) Rocks
5 Government works at levels in India. 1

a) two b) three c) four d) five

I | Name the following (1X5=5)

1 A hill station of West Bengal ; 1

2 A table land is also called as . 1




The weather condition prevailing over latge area for a long period of time
, )

4 is known as black diamond .
§ | The head of the municipal corporation is called .
e - §—
1. | Give two examples (1X5=5)
1 | Wild animals found in Southern Plateau region - l
/'"\
> | Popular dance forms of Punjab - 1
3 | Scasons of India - ]
4 | Natural Resources — 1
5 | Cities which have Municipal Corporations — 1
I'V. | Analogy. (1X3=3)
1 | Summer : :: Winter : Fog. 1
2 | Uttar Pradesh : Ganga Basin :: Assam : 1
3 | City : Municipal Corporation :: Villages : 1
V. |Identify the pictures. (1X3=3)
-‘-\
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L . —
| VIL | Answer the following questions (1X6=6)
I | When are the elections of the municipal corporation held? i
2 | What are exhaustible resources? I
3 | What is a Plateau? i
4 | Why do people visit hill stations during summers? i
5 | Define Basin. 1
6 | What 1s alluvium? 1
Section C
VIII | Answer the following (2X5=10)
1 | Write any two importance of the plateau region. 2
2 | What is a natural resource? Give 2 examples. 2
3 | Differentiate between weather and climate. :
4 | Give any two examples of tax collected by the government. 2
5 | Define Delta. 2
Section D




Answer the following questions

IX (3X5=15)

1 | Write any three ways hy which we can C(-)-I-Nc:;; lhc resources. 3

2 | Describe the climate and vcgc!nhnu in the ‘%m:thcm I‘lafcmr rcgmn 3

3 | Write and Explain any ﬂncc_f;c]m aﬁ‘c_(_hn;z lh; (,hrnafe of a place. 3

4 | Complete the table, ) B | —:**- - 3
State Capital Crops Traditional Food
Bihar | _ - )

S | Write about the three functions of a municipal committee or a corporation. 3

Section E

X. | On the political map of India, locate the following places. (1x5=5)

a | The capital of India. 1

b | The Bay of Bengal. 1

¢ | The statec where we live. 1

d | The Ocean named after India. 1

e | State where Taj Mahal is located. 1
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Class: 1V
Date: 01/10/2024
No of Printed Sides: 2

Choose the correct option.

Sindhi High School,Bengaluru
Half Yearly Exam 2024-25

Subject: Computer Science

Max Marks: 30
Reading Time: 8:00 a.m. to 8:15 a.m.
Writing Time: 8:15 a.m. fo 9:15 a.m.

(5X1=5)

Which type of computer is used to fill entire rooms and is known for handling important fasks for big

companies”?

a) Micro Computer

b) Mainframe Computer

c¢) Minicomputer d) Super Computer

What does RAM in a computer function as?

a) A storage unit for long-term data

¢) A CD reader

b) Temporary memory for currently used data

d) A toy box for storing toys

What does the Stamp Tool in Tux Paint allow you to do?

a) Apply Stickers to your drawings

¢) Add text to your drawings

b) Resize your drawings

d) Change Colours in your drawings

What does the canvas in MS Paint represent?

a) The computer’s hard drive

¢) The internet browser

b) A blank sheet for drawing and painting

d) A document editor

Which button is used to print a document in Microsoft Word?

b) Print d) New

a) Save c) Open

Fill in the blank. (5X1=5)

is a type of computer that is portable and convenient to carry around.

tool helps you draw straight lines in Tux Paint

An is a step-by-step instruction to solve a problem.

block is used to make a sprite move in PictoBlox

button is used to go back or erase the last change done in the document.

Say True or False. (6X ¥2=3)

RAM is a type of permanent memory.
We can use the "Fill" tool in MS Paint to draw shapes.
The "Eraser" tool is used to delete images.

The "Sprites" in PictoBlox are the characters in our program.

1
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